


A, B, C, D, E, F, G and H are
sitting around a square table
facing centre of the table. Some
of them sitting are sitting at the
corner and some are sitting at the
exact centre of the sides.

G sits second to the right of F.
e DT O SR .

B sits second to the right of A.
C sits third to the right of H.
E sits third to the right of F.

C is not the immediate neighbour
of A. who sits second to the right

of B?




A, B, C,D,E,F, G 3R HU® qPR
NS @ ORI 3R Bg D AR TG PP
43 €| S 9 §B DI W 99 § 3R
FB Yol B 3P Ig W 93 B |

G, F& T ¥ TR VM TR 937 2|
B,A® T ¥ TR WM W 93T & |
C,H® TR ¥ IR I TR 90T 2|
E,F® S § dR RIM TR 83T 2

C, A & fdcaq el {8 281 B @
T TR W W B 337 27

e ®

(c) E
(d) A



unemployed

" villagers
literate
Find total number of_literate
villagers?

HER  JEIN P HAd H&T F19
HITY?

(a) 12

(A3
(c) 9
(d) 4



(Life, Death, Time) best represent
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(Gfles, 7Y, §#9) &1 wad (0
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A cyclist travels towards the east

for 2 km and then turns left and
travels 1 km. From there, he

turns left and travels another 800
m to reach a tea junction. After a
short break, he turns towards the
south travels for 500 m from
there, he turns right and travels
for 1.2 km. Finally, he turns right
and travels for 1 km. In which
direction is he from he starting
position?

Us WiEfed aee 2 & gd o 3R
ol 2 3R R Il 3R geax 1
f& gerar 8| 987 9, 98 9¢ g1 B
IR TH I S®E 6 Uga @ forg
800 HeX @ TN TF &Rl &l U



BIc 4 9% @ qIg, 98 SR B AR
¥eaT 8 3R 98 ¥ 500 Hiex & A=
&Yl B, R 98 qW gear @ SR 1.2
fd 9% a1 HRar 2| d |, 98 IW
gedl & 3R 1 f&d a& amm avar 2 |
98 RS Refy & fb feem # 27

(a) West
(b) South

\_/M'N orth
(d) East




a.

A metro train is stopped with its
front face in the north. The air
flow is from west to east. Find the
direction of the smoke coming
out from the metro train?

Ud Al o7 Bl @ SR Qe o 3R
B} D TP I 8 | I1Y BT HaT8 U
W qd @ AR 2| A 29 W o
I g9 B feem sa Hifrg?
(a) East
(b) North
(c) We

one of these
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AT X2M8Y

(b) X2M802Y
(c) X7TM602Y
(d) X8M2Y

‘R8S’ > R is father of S
‘R7S’ > R is sister of S
‘R6S’ - R is brotherof S

‘R2S’ - R is wife of S

Which of the following

expressions represents x is the
mother of y’?

‘R8S’ - R,S &7 far 8
‘R7S’ -» R,S ¥ 989 &
‘R6S’ - R,S &I WT§ &
‘R2S’ > R,S @I Ul &

frafoReg & @ o9 a1 ks
ﬂﬁﬁT%%x,yEﬁ"ﬁ%’?



Statement:

DY

M>2N>R>W,E=J>L2>2W
e —

Conclusions:

fersnv:

ﬁE}W

X 2) M>L

l/{ﬁnly I follow

(b) Both follows
(c) Only II follows
(d) Neither follows



Which of the following option is

ffofRaa & 9 @9 w1 Ao O

TR "
— L P
Fig1© Fig 2




Statement:

1) Some Boys are handsome.
2) No handsome is employed.
3) No graduate is a boy.
Conclusion:

Some handsome are not
graduates

7581 Mo employed is a boy
GGk
1) Y TSP &roUH & |
2) B tveTHq HRING ol & |
umy 9 P Igve W @ 2
(b) Both [T%

(c)Only 2 1) BB TeHH UGUC 78l ©
(d) Neither ) #1¢ Frika dear 78t 2



Select the option that is related to
the fourth number in the same way
as the second number is related to
the first number and the sixth
number is related to the fifth

number.

99 fddeq G &1 o= &Y S drel

&1 ¥ ST YPR Aefed & o uoR

T HE&AT Ugell Wl ¥ et ® 3R

Bl AT Uradl EET 9 et 2 |
121 :9:212:10: 508 : ?

(a) 10
(b) 11

A6 12

(d) 13
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Statement:

So many smokers are suffering
from cancer.

Conclusion:

1) Most of the cancer patients
are smokers

)(2] Smoking always causes

D

(a) Only 1 is correct
(b) Only 2 is correct

(c) Both are correct

\AdTNone

cancer.
DY

§5d 9R PHUE B 9T AT DR |
9ifsa € |

frrepe:
1) SIRHIY HEX N GHUF HIA qTed
g ©

2) SHU BHIT HEX BT BT §dT
g |



Pawan walked S0m towards north
then turned left and walked 68m.
He then turned to south and
walked 22m and then he took a
left turn and walked 44m. After
that he turned right and walked
18m and finally he turned left to
and walked 48m. What is the
shortest distance between
starting and end point and in
which direction is Pawan from

starting point?

Uqq SR Bl AR 50 Hiex g, R
IRt 3R T SR 68 HieX Fam| fiw
98 <T@ AR HeT 3R 22 #iew




Toll 3R fR 98 9% 3R g$ 741 3R
44 A 1| P 1€ I8 <Y HT
AR 18 WX Tl 3R 3fd # 9§ ¢
qel 3R 48 HicX =all| WURMS 3R

dfow fig @ 99 =Faq @ & 2
AR e IRRe fig § few R 3
87

(a) 30m, North East

(b) 25m, North West

(c) 26m, South West

\/&)’26:11, North East



A #B = A is father of B

@ A & B = B is daughter of A

A A % B = A is mother of B
A \]OD A@B=B ishusband of A
&% A*B=Aissonof B

Which of the following represents
that ‘E’ is grandson of A ?

Cfgﬂéu A#B=A,B & fUar &
@ A&B=B,A & ¥ &
B#A&QEC; A%B=A,B 3 A 8
3= ° A@B=B, A& U2
wa&D%E*B#F A*B=A,B & 03 &
C)A&D&E#F@B fyafafReg & ¥ @ <oiar & & ‘E’,
(AA@B#D#E&F A &7 qar 27



Seven boys A, B, C, D, E, F and G
are sitting in a row, facing
towards the north. E is at one
ends. A is fifth to the left of E. B
is not the immediate neighbor of

A or E. C is third to the left of B.

only D is sitting between A and B.

only two boys are sitting between

7~ ,b A G‘ F c D and F. which of the following
U statement is/are correct?

6 Xl) G is to the immediate left of D

L/ﬂ) A and B are neighbors of D
9d d$® A, B, C, D, E, F 3R G

IR e 9t 3R @ @ U@ ufth #
SCEIEUG BR R E| A, ED a5



IR ¥ Uad W9 R 8] B, A AT E
&1 Fdeay st 78I 81 C, B & 913
IRV AT 2| A 3R B & 419 dad
D T 28| D3RF D T daad Q1
T 93 T

freforRag & & &9 91 &9 98
g/8?

(1) G,D & 3% 915 AR &

(2) A 3R B, D & USrIl &

(c) Neither 1 nor 2
(d) Both 1 and 2



f
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Seven subjects English, History,
Botany, zoology, Biology, physics
and chemistry are being taught in
a class on seven different days of
a week starting from Monday but
not necessarily in the same order.
Two subjects are taught between
history and chemistry) Zoology
was being taught on one of the
days before physics. Two subjects
are being taught between biology
and physics. Biology is taught on
one of the days before Saturday
but after Wednesday. History was
taught on a day just before
English which is being taught on
Sunday. Which subject in taught
on Tuesday?



(a) Zoology

\/(hk?fysics

(c) Botany

AR 9 g 81 91 §9E b Aa
T3 fadi ¥ v Fem d |
SgfaeE, Sha fage, A@fasr SR
A fdgm= ugw o @ § ofeH
oo T8 5 s Bw ¥ 8| sfas™
IR g+ fasm= @ 99 ar favyg gew
o Bl Wifoer 9§ s 9 usd
STgfas™ 91T ST Y81 oAT| Siafds
IR Hifddr & 9= < fAvg ggw <
® & | oafds= offaR & ugar afe+
AR P 91¢ Sl U Q7 ggrm S
2| 3Uoh ¥ 3 ta a1 ugal sfasm
UerIT STl o7 S 31§ AR &I Ugrm
ST BT B HTedR & diF9 a1 fasy

(d) Chemistry ugrr SaT 87



If ‘~* stands for ‘+’ , ‘+’ stands for
‘x? , ‘x? stands for ‘-’ than which
one of the following is not
correct?

e~ BT Rt 40 B, 4+ BT FA X
g o @1 Y <« g ffoed 9 9
P T Hel el &7

(a) 22 + 7 -3 x 9 = 148

(b) 33 x 5 - 10 + 20 = 228

\_ier7 + 28 - 3 x 52 = 127

(d) 44 -9 + 6 x 11 = 87



If it‘'s possible to make a
meaningful word from 224, 5th, 6th
and { G letter of word
GﬁNEBQ§ITY then which will be
first letter of the word?

Jf§ GENEROSITY & & oy,
UiTd, B3 3R 9Iad 3MER | U 9rfd
Ieg §9FT G99 & o I BT USal

(a) S

o= gacomilanl frisdble

n



Statement:

A multi-party system is a political
system in which multiple political
parties across the  political
spectrum run for national
election, and all h@ppdthe capacity
to gain control of government
offer, separately or in coalition.

Arguments:

(1) This system allows a variety of
interests and opinions to
enjoy political representation.
People can make a choice
between several candidate

(2) If no one party is likely to gain
power alone. Therefore, it
leads to difficulty in formation
of government. It may lead to
political instability and often
appears to be very messy.



ReRar UaT 8 AHdr & 3R AT

(a) Only 1 strong
(b) Only 2 strong

(_/ﬁ) Either 1 or 2

(d) Neither

h.

§gSeild WUl TS NoiHiae
yorrell & forad orifae Waed
® By OHIdd qd TS g
& foag dsd 8 R R W
T3 AT T3eYT H DR
y&g ) FEaer gifia a1 @t
&THTT 9 B |

q&:

(1) I8 wumel fafr= ueR @ f2ai
IR fERt @ wofae wfefRa
BT AFE o P AR <A T
AT B SHIGARI ® 919 T B
HHhd &

() afe foit T Ul & Do
AT BT BRA DI GHIGHAT 8]
2| THfY SHH WPR M ¥
fema oMt B SO JoFIA®




Statement:

While laying gas pipeline for a
utility company during testing,
the gas pipe line burst and larger
amount of fire broke out.

Course of action:

(1) All license of the utility
X company should be
immediately suspended until

the investigation of the

incident is completed.

/(‘2) Residents of that are should

be advised to stay indoors to
avoid burns and fire.



e

T & SRM U SYgiran
Ul @ forv 3 ursuenzq o
9 9 U8y g9 Be Ty 3R
! HET § 3R T TS |
PNATS D SR

(1) "gear @ Sig @ B qdD
gfefard oot @& 9t arsdy qRd
feifea o= Ry o= =nfRv |

(2) a8i @ fAaRal & S @R
AN A ¥ @ fog R & iR
&Y P GATE & W+ A8y |

(a) Only 1

(b) Both

(c) Only 2
\_{&) Neither




Statement:
HY.
P>H2U=0>Y<L

Conclusions

frrepy
X @mH>0
X (2)L<H
(a) Only 1
(b) Only 2

L/(e)‘ﬁeither 1 nor 2

(d) Both 1 and 2



Find the wrong term in the
series?

el ¥ T T T BIR?
225 9 Yo> Y33y sp3 325 859,403,437, 490, 523

| L1} J:;n/@

‘%Q'H ﬁz"'l'({%-*s QT—ZH zf.'i.s (d) 325






